ATTACHMENT A

ANNUAL ACCESS LINE SUMMARY REPORT

CENTREX LINE/TRUNK EQUIVALENCY TABLE
Please use the following table to calculate the number of Centrex Equivalent Lines.  

Centrex Equivalent Lines are calculated on a per Centrex customer basis.  For each Centrex customer, find the Number of Centrex Lines in the column on the left and use the corresponding Equivalent Lines from the column on the right.  For a customer with more than 300 Centrex Lines add one (1) Equivalent Line for each additional 18 Centrex Lines, as noted in the table.  Then add each customer’s Equivalent Lines to determine the total Centrex Equivalent Trunks to be reported on the Annual Access Line Summary Report.


Number of Centrex Lines




Equivalent Lines
	1
	1

	2
	2

	3
	3

	4 to 6
	4

	7 to 10
	5

	11 to 15
	6

	16 to 21
	7

	22 to 28
	8

	29 to 36
	9

	37 to 45
	10

	46 to 54
	11

	55 to 64
	12

	65 to 75
	13

	76 to 86
	14

	87 to 98
	15

	99 to 111
	16

	112 to 125
	17

	126 to 139
	18

	140 to 155
	19

	156 to 171
	20

	172 to 189
	21

	190 to 207
	22

	208 to 225
	23

	226 to 243
	24

	244 to 262
	25

	263 to 281
	26

	282 to 300
	27

	 
	

	Each additional 18 Centrex lines
	1


The following is an example of how to calculate the Centrex Equivalent Lines.  It is for illustrative purposes only:

Example:

Customer


# of Centrex Lines

# of Centrex Equivalent Lines

	Customer A
	100
	16

	Customer B
	75
	13

	Customer C
	300
	27

	Customer D
	50
	11

	Customer E
	400
	32

	Customer F
	650
	46

	
	
	

	Total 
	1575
	145
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